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Math 313 Name:
Exam 1 Section:
May 12,13, 2015 Instructor:
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Instructions

I) Do not write on the barcode area at the top of each page, or near the four circles
on each page.
IT) Fill in the correct boxes for your BYU ID and for the correct answer on the
multiple choice completely. Multiple choice questions are 4 points each.
ITI) Multiple choice questions that have more than one correct answer will be marked
with a &. All other questions have only one correct answer.
IV) For questions which require a written answer, show all your work in the space
provided and justify your answer.
V) Simplify your answers.
VI) Scientific calculators are allowed.
VII) No books or notes are allowed.
VIII) There is no time limit on this exam.



Part I: Multiple Choice Questions: Questions marked with a & have more than

one correct answer. The other questions have one right
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Mark all correct answers.

answer. (4 points each)

1 For which value of the constant b does the system x; + 3z, = 1, 1 + bxy = —1

have no solution?

[Jb=-1
[Jbo=0

2 A row echelon form of A = [1 2 3] is

m'123’
0 0 1)
@'120“
0 0 2
1 0 2]
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3 For an m x n matrix A and a vector b in R™, which of the following are logically
equivalent to the statement: the columns of A span R™?

(i) Each b in R™ is a linear combination of the columns of A.
(ii) Each row of A contains a pivot position.
(iii) The value of m is larger than the value of n.

[ ] only (i) IX[ only (i) and (ii)
[ ] only (ii) [ ] only (ii)

[ ] only (i) and (iii) [ ] none of them.

[ ] all of them [ ] only (i) and (iii)
4 Which of the following three statements about the matrix equation A7 = b are
true?

(i) If Ais a 4 x 2 matrix, then for every b in R*, the matrix equation AZ = b has a
least one solution.

(ii) If A is a 2 x 4 matrix, then for every b in R?, the matrix equation A7 = b can
never have a unique solution.

(iii) If A is a 3 x 3, then for every b in R3, the matrix equation AZ = b never has a

solution.
[ ] only (i) and (ii) & only (ii)
[ ] none of them. [ ] only (i) and (iii)

[ ] only (i) [ ] all of them
[ ] only (i) [ ] only (i) and (iii)
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5 &  Which of the following statements are true? (Assume any multiplication and
additions are defined). Mark all that apply.
|:| If every row of A is a pivot row of A, then Ax = 0 has only the trivial solution.
IX\A homogeneous system Ax = 0 is always consistent.
@ The system Ax = b can be inconsistent even though Ax = 0 is consistent.
D The system Ax = b can have a unique solution even though Ax = 0 does not.
D The system Ax = 0 can have a unique solution even though Ax = b does not.

6 &  Which of the following sets are hnearly i dependent7 Mark all that apply

STHNARE [ ] i
:2: :z: ::i: - e l fo
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7 Which of the three vectors

J [6 X T2 v
(i) [2] , (ii) {3] , (iii) {
4 1

is in Span{w, v} where

(ii) and (iii) [ ] none of them.
(i) [ ] all of them

[ ] only (i) and (ii) [ ] only (iii)
(i) only (i) and (ii)

8 Which of the following linear transformations is not onto? Only one answer

applies. ’}
-l’l- . -ZL’l + IQ [ [ - /_l
D T T2 - _ZEl — CL’Q
EA . [ $1+$2
I:l T | 2| B _211}1 —{—41‘2 Ll Q’i} L }
Or2] -] [b x] E\ n]
_:rf [ 2%1 — 3372
]E T :xzz :—4:L’1 + 6x2} E,L. . /E ~ o~ ]
1| —3x1 — 211 v
e ] SR o 0
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and consider the system Ax = 0. How many free variables does the system have?

1

]2 el \ O

(1o Q \( ) %\\ \\
\ )

L4 1 5 O 3

[]3 ]

9 Let

A:

N = = O

1
0
1
1

W N = =

10 &  Which of the following statements are true? Choose all that apply.
M A set of two vectors is linearly independent if the vectors are not multiples of each
other.
|:| Linear independence does not apply if a set contains only one vector.

|:| A set of 3 vectors in R® must be linearly independent as long as they do not
contain the zero vector.

E{ Any set containing the zero vector is linearly dependent.

|:| A set of 5 vectors in R? can be linearly independent if none of the vectors is the
zero vector, and none of the vectors are multiples of each other.
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Part II: Justify your answer and show all work for full credit.

1 [Jo[ [ 23 Jal s J6 [ J7[ I8 [ ]9 [ J10 Administrative Use Only

Solve
T — 3233

[\
=
-
+
DO
&
N
+
e}
8
no
I
~J

M% % % =346 =5
= D Ky =-2L5ED=D
G =5 %=
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Find the reduced row echelon form for

| 2 \ |\ 2l = \ L \ 2
7L D 4~ 5-31 0 |~ \ -2, O
72 —— 5 -4Y4-2-/ o-Y -2 -)
\ Loy T |We S S (]2 0 "o
5 | -3 0 J\,Ok—ﬁgﬂ—g\©7m
DD““)/B:} b@\ /o bOO \ ’L\/m
oy /)
6 1o 24
n QO 1 m/mj
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Determine if the columns of the following matrix A span R*.

7T 2 -5 8
-5 -3 4 -9
A= 6 10 -2 7
-7 9 2 15

L kg - L ~5HF
58 e | [-LR F 1R 6 6% (b |
Ly 23] R 4R O 0 0

OV\I\Q/ 3 P vo“gﬁ” V\Ojfv\ﬁpe\y\
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Let

1 0 -2 2 0].
-1 2 -1 -2 =2

4 2 1 =2 2
A:

Find all solutions to the homogeneous system Ax = 0. Write your answer in parametric

vector form.
I 0 ~ 2700
O 2 Y~
O 2 5

R R s pa O -2
L 0L VO -1 L0
SRS f{@ g
aq O AL bo oo |\ %0
-2/ S 4Xq -5
v O L © ’é\J B/Q’QLJ
O 0o | "0 ~u
4
[ J
— Yol a/b | No ] o
SIS ARIE
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Let {v1,Vv2,vs,v4} be a linearly independent set. Prove that {vq,vs, vz} must be
linearly independent.

SuPPes Y, /\[o./\fzg oD ged Than, Hore ot conslats
Q0 < (QJY laask Lol whida 18wk o)) tor W

C\\i\ X C'L\!’),)‘ QS\AQ =0

(hved ore_
CN L F GV X QN R ON, 2R

omd ot Leath owr GQ’H/Q et 13 vt O T, ENAA ,\[3)\&% uld, v
QQV\)YVO\DA]Q/}\DV\.
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Let T : R® — R* be a linear transformation given by

211 — w2 + 13
X1 1
r (i2) - xr1+ Ty — 4%’3
3 3%1 — 31}2 —+ 2.’133

IT) Is T one to one? Justify your answer.

Row welnctn of 4l mokeim %\NS EQ’Q\“ QQ\ 15 & P oA cal. sa7{ G-

o~V Q\)F\ \

\ — ~— |~
% 7 - 9 O
O O ~\ & @)

IIT) Is T onto? Justify your answer.

Nalx Q\Nvgﬂm S 9 @\\H)t ToW,5D T \Qﬂ oV,



